3 ;‘ "' R A ) . i~ ]
" Previg

2 Nos.1-17) In the o b
‘ ons Q ; ¢ glven :
irect‘ o these par:ts, which are | bell e'dq:::s“onn
ﬂ”aﬂ; the alternatives. e

H s
am?

2015 (I)

4, When the car passed by .%, ‘
Q R i :

S
The proper sequence should be,.' X
@PARS  (b) QPRS

{ORPAS. . () Rpsq
). A moment comes LRt - o
when we step out from the
- S
whic'h'comes but rarely in
eq ‘
and when the soul of a nation -
lonﬁ suppressed, finds utterance i+ :
4 ‘ :
The proper sequence should be .. L :
(@)QPRS (b)) PRSQ . (c) QRSP: '/ (d) RSQP
3. She had a blind belief that inside the bag

old to the new “

hEtOJI‘ ) j\- “\“ ‘:

US VEarS’

there ig a gen
_ ' ’RQNdstopr

. two or three other children there were perhaps
P = ‘,Q}‘
which the big man should be like herself -
The proper sequence should be -
() QRPS (b) QPSR
(c) Rasp (d) RQPS
4 He approached the teacher at school: ‘to know
‘ P Q
I his studies how his son was getting on
| R , S
The Proper sequence should be
(@) PQRs (b) PQSR
(©asrp (d) QSPR|

L

‘Questions

tence of which some parts have been

tence ‘ jumbled up.
oducg @ correct sentence, Chooge the proper sequence

' /

5. 1.was 60 angry that if had met him in the ptreet
g n P
and not waited to agk him |
] Q ¢ 7
why he had writtén'me an ingultin letter”
o R '
1 would have knocked him down -
(i | i S
The proper sequence should be
“(@PsaR - & SN, U
(b) PQRS o sl i ol i
 (d)RsQP ik,
6. On the contrary,

st}

'abéi{t family _t_)lar/lfl'mg and its beheﬁt-s .

(YL T -P

. toall citizens the Government wants’

to p__i‘évide information and education
~The proper sequence should be '
(@ RASP oy 00 ‘
.Eb) SRQR ...,
) RSRQ
“(d) QPRs AN
- 7.-Inspite of the poor and hungry people
Goyas les o : P
" made by medical sciences
the extraordinary progress often die -
adw oy OR g
“The proper sequence should be
(8) PSQ ;
(b) RQPS .,
(c):PQSR

(d) RSPQ

 ——— e ——
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y item

Directions (Q. Nos. 8:17) In this sacsion) i".ff:d the

COnsists of siv sentences of a passage. The ﬁr.g‘ and Sg.

sixth Sentences are given in the beginning o8 ,i;bled up

e middle foyr sentences in each have bt-’e't}];‘o find the

and labelled p, Q. R and S. You are ,-qqmr; mark your
Proper sequence of the four sentences an
response accordingly on the Answer Sheet.

leacher
8. S,: While teaching in the class-room, our teac
suddenly fainted. i .
S¢ : The headmaster at once sanctioned his lleav:(;
P : The headmaster soon Joined us and spoke
them in a soft voice. '
Q :He was told that the patient needed
complete rest for a month. _
R : He was gt once taken to the hospx_tal. -
S : The doctors examined him with serious

faces.
The proper sequence should be
(a) PQRs : (b) SPQR
(c) QPSR (d) RSPQ

9.5, : The colonial powers had 3 ‘very .simple
technique to ryle the world. 28
Ss : Partition was the culmination, ;
P : They lumped tribes anqg beople together,
played one against the other,
Q : India’s Provinces

They a]sq purchaged the loyalitjeg ‘of those.

ocals who Were needed g5 Supports for the
colonja] Presence, )

¢ The DProper Sequence should pe
(a) PRsqQ (b) PSRQ.

Ss : The safe wag empty,

: The peop OPened the gafn
€ys to the Mmanagey,

: The Manager anq the ent '
o oag peon went ¢, the safe
Th i
safe Manager anq the peon lookeq Into th
They Were shockeq at what they aw there
The Proper
qUence should p
(@) QrPs (b) ;

11. S, : The crowed swelled round the thief.

12.

13.

Q :He was fed Up and was ahoyt to ref

CDs Pathﬁan
i

Sg : They were followed by the Crowq . .
o

the thief alone. ' _ Whigy A
P : Suddenly, he whipped out a knife from'
his shirt. ng

Q : The thief stood
shame. ‘ ‘

R i#'Fhe two young men 1'.101.d1ng him o -

“*by the sight of the shining Kknife,

S : They took to their heels, ;

The proper sequence should be

(a) QPRrs (b) sQrPR

(c) SPQR (d) RQsP

S; : The old man Wanted to crogg the rop, d

Se : Holding him by hand the drivey help'ed "
to cross the road. iy

P. : The driver got off and came to him_

quiet, hig heaq b X

_ Urn,
R :Then a car stopped in front of him,

S : He waiteq for a long_time.

The proper Sequence should pe
(a) SQrp ' (b) SPRQ
(c) Qrsp (d) PSRQ £

S, : The first thing yoy have tq do is o Speak

S¢ : Half

. ou becayse you are
a forel_gner and he wyj be ‘pleaseq that b
could figyye out what yoy said. v <
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2 lamb is born its mother may, gjq.
 Whe ans of * overcomin '
Jf B o is found, the liv
"end®™™ pe saved. ‘
ere will nearly alwayg be Dot
f I perless lambs and sheep without 1y, :
Otve or a sheep which has g
@’{;f,:b will not feed or look after 5
Iatmth'e same time some new born |a
B weak to hve: .
0 happens in large flocks wh

g this natUro
s of m_i_ﬂiong of
s ca

st its own
motherlegg
mbs are

ere many

5 :Tl?ézp give birth of lambs at the same time
: . ‘
hould be !
roper sequence s
3

.« . people Very seldom “have. everything they
»° ‘

want. N
.Qur =~ decisions indicate - our

S referen_cés and therefore priorities.

P.%suau y, we have to decide carefully how to
i pend our income. ; i

q: They may all seem i1mportant, but their. true
'importance can be measured by deciding
which we prepared to live without. = *

p:When we exercise our choice, we do so

scale® ¢ of

according to our- personal scale 't of
preferences. 4
g:In this scale of preferences, essential

commodities  come first, then the kind of
luxuries which help us to be comfortable,
and finally those non-essentials which give
us personal pleasure. '

The proper sequence should be
@PSQR  (b) PRSQ (c) QPSR (d) RPQS

£.8:0n 5th October 1818, when young Lincoln

Ordering of Words and Sentences

17.

615

S, : Crude oil obtained from the field is taken to

a refinery for treatment.

Sg : Lubricating oils. of various grades are
obtained last of all.

P :The gas that comes off later is condensed
into paralfin, ‘

Q : This allows substances with different boiling
points to be separated. '

R : The first vapours to rise when cooled provide
the finest petrol.

'8 : The commonest from of treatment is heating.

The proper sequence should be

(@) SQRP () RSPQ (¢)'SRPQ (dyRPQS

Directions (Q.Nos.18-28) In the given question, there
18 a sentence of which some parts have been jumbled up.
Rearrange 'these parts, which are labelled as P, @, R
and S to produce a.correct sentance. Choose the proper

sequence among the alternatives.

2014 (Il
18. The soldiers decided to hold out in the fort:
% - %
was killed till the last ﬁiaﬁ arn.ong them
R Ly S B
The correct sequence 'should be~
(a) QPSR *(b) PQSR
(c) QRSP S (d)SRPQ .
19. Her friend when she was vér‘f ill last year
‘ Bsiies s squsiigye 1Q
on Sheila could not attend
R S

was approaching his 10th year, his mother .

Nancy died of fever.

about a year during which he, however

managed to master reading, writing, spelling

and some arithmetie.

rogress, - Sindbad  the
Q .L_Yusoe and Aesop’s Fables. ,
-hi? S always acknowledged this moral and
R. ellectual debt to his step mother.
B fOllowing year, his father married Sarah
§, h Jo nson, a widow with three children.

158€ books provided Lincoln with a mass of
OWledge, .

Sailor,

¢ pr
(o) Rg Per sequence should be

(b) PSRQ (c) RPSQ (d) PSQR

-

+His total education at school comprised only

:She was illiterate, but she broughtsWith,h?r
Severa] books, among which were Pilgrim’s ;
Robinson

20.

21.

“The correct sequence should be

() PQRS " (b)SRPQ" . ()RSPQ . (d) RPQS

The poems and stories
have been taken for this book

P T Q
'from a variet}x{z of sources that havesbeen éelected
The correct sequence should be -
(a)SQPR  ())RPQS  (c) QPSR (d) PQRS
The belief that the Moon has great influence
P |
still exists with great force over the weather
Q R
among many people

S
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The correct sequence should b
() PQSR . (d) QSPR

(8) PRQS  (b) QPRS
22. There is an old saying in our country
not only cover themselves with glory on the
Earth ! el
Q i, 1
who die for their motherland but attain heaven _
R v By iy
The correct sequence should be
(a) PSQR (b) SPRQ
(c) QPSR “(d) PRQS D6
23. Boys are on their parents invariably dépl endént ‘
until they can earn money to support themselves
R S v e
The correct sequence should be Wk L
(a) RSQP (B):QRSP., ..:i1 s i T 81
(c) RPQS (d) QPRS
24. The principal said that those students
‘ s ‘
would not be permitted to enter
Q
who do not produce identity cards
R LS
The correct sequence should be
(a) RSPQ ... (b)RPSQ
(d)-SRPQ

(c) PRSQ

Jirections (Q. Nos. 29-36) In this section, each item consists bf six sentences o}' a passage: ;Tl'z'éi'fi}stt" and Sﬁi

if gtudents are @mg&iug

' it will be bad for the eyes
The correct sequence should be

(b) QRSP
26. We saw while playing

(a) PQRS

t
!

rl

R

(3) RSPQ

S

25. The doctor remarked-that h@gl\“m

that Ram fell down

P i

Ry

/ ’
(c)Sqrp (d)QHps

%b\og f} 3
: Q..
and hurt hig g

P

THe correct sequence should be
(b) PQRS

(c) RPQS (d) -

l027. For an hour @M}M o

!

4

Q

R/

il'The correct %equg}zce.shdd!d be by
(@ PaRs .- (b)RAPS . (c).QPRs (d)SPQH

due to dense fog the plane couldp’i.:'tél;e. off |

tc 28.:She complained that .. s !
that it took a month to cl_ean b
P (o Qe it
‘ “:.'__E:; ‘the house was so dirty ’F_""”“,f'?_'f"' :
e 4 R - S o 4

The correct sequence should be

(a) PQRS

(©PSQR " (d)R

(b) SPQR

entences are given in the beginning as S, and S;. The middle four sentences in each Sy have been' jumbled up

abelled P, €, R and S. You are required
cccordingly. .

29. S;: There have been many stories of porpoises saving hum : ‘
S : Marine scientists point out that the porpoise’s spirit of play is responsible for such incidents.’
: ‘When I got to my feet no one was near, but in the water about 18f out a
One woman was wading waist deep off the Florida coast when an undert
‘I felt something give me a terrific shove up on to the bedeh’, _ A
‘A ' man standing nearby said that the porpoise had shoved me ashore.’ e

P
Q:
R :
AN
"The correct sequence should be

(a) PRSQ (b) QPRS

f

Or!

an lives.

(c) QRPS .

¢ 2 (Y]

she says.,

i
sy

ow pulled her down.

1 (@ QPSR oot ST
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Ordering of Words and Sentences

 the greatest city of the ancient world,
o .om (;t, schieve its glory all of a sudden,
7 gd '1; cement of great moment cannot be

" Acg:,lm 1ished w1th9ut patlent' perseverance

considerable interval of time,

ahe came is true of every great achievement,
P:Te chould carry on our work with patience
Q:  § perseverance. .

It ook several years to build Rome and bring
i 10 the state of pomp and splendor,

en we wish to do great thing, we cannot
success in a moment.

R

S ’ expect
fheco rrect sequence should be

QP2 (b)PQSR  ()QSPR  (d) SRPQ
3

g: The bus stopped. o
3. Sl.- Then his eyes rested with cold malice on the
dog- ) |
p : The conductor came in arfd took the fares.
. A woman and a man got in t?gether.
R - The young woman was carrying a pet dog.
g : They took their seats. _
The correct sequence should be
(3 PORS (b) QSRP (c) QPSR (d) QSPR

1. slf James Watt used the power of steam to drive

machines.

S;: The jet engine is relatively more recent.

P : With petrol engines people were able to build
motor cars and aeroplanes.

Q :Then' many years later, the petrol engine
was invented.

R : These provided quicker means of travelling.

S :His invention was used later by other clever
men to give us the railway engine.

The correct sequence should be

@SPR  ()PQRS () PSRQ - (d) QSRP

3

departmental store clerk and said, “T'd like
the'zse altered, please”.
G:Tnu.mphanﬂy he put the trousers and the
r¢ceipts on the counter and said, “I'd like to
ave thege altered, please.”
.H'e said that free alteration is not possible
Q Withoyt 5 receipt, : ‘
: 1‘0?1 man” said, “Okay, I'd like to return th
retuiers. The clerk took them ‘back and
R. ned the money.

Wa
ot buy them.” The clerk put the

OQusers ip - s 1
a bag, issued a receipt an
: anded hlm both g

R

8 A man handed a pair of trousers to the -

e an pugheg the money and said, “Now I |

617

8 :The clerk asked for the sales receipt bu;
after searching his pockets the man replie

that he had lost it.

| ~The correct sequence should be

34

(@ QRPS ' (b)SPQR  (c)PSRQ  (d) PSQR

S,: It is generally assumed by the admirers of
democracy that the right to vote also confers
a right for power which threaten the very
-existence of democracy. -

Sg: As a . result, the political scene witnesses
endless dogfights for power which threaten
the very existence of democracy.

P :These qualities are very rare and cannot be

35.
Sg: All the other “tribes  were afraid of them

36.

had for the wishing.

Q : For the right for power must, if it is to be
useful, be accompanied by the ability to
exercise - it with competence, wisdom,
foresight and broadmindedness.

R : Yet all those who have the right to vote
believe that they have them and try by hook
or crook to capture power. ]

S : The former has much to commend it but one
cannot be so sure about the latter.

The correct sequence should be '

(a3) PQRS »" (b)) SQPR '/ ~ (c)PRQS : (d) RQPS

S;: There are several tribes in East Africa.

‘. because of their skill in war.

P : The Masais were famous fighters.

Q : They used to raid the neighbouring tribes
and carry away their cattle.

R : They lived on the wide plains in Southern
Kenya and Northern Tanzania.

S : But the most famous among them is Masai
tribe. ' ;

The correct sequence should be

(@) SPRQ  * (b) PRQS (c) RQSP - (d)QRPS

S;: I had my eye especially on the long jump.

Sg: He turned out to be a German named Luz
Long.

P : Everyone expected me to win that Olympic
event hands down. : P

Q : I was in for a surprise. -

- R :When the time came for the long jump trials,

I was startled to see a tall boy hitting the pit
at almost 26 feet on his practice leaps.

Si: Ayear before, I had set the world: record of
26 feet 3 inches.

The correct sequence should be

(@)PQRS  (B)PSQR  (c)PRSQ ' (d) SRPQ
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2014 ()

Directio
there g

N8 (Q. Nos.37.111) In the given question,

] @ sentence of which some parts hdve been

J:s"}lf ‘ed up. Rearrange these parts, which are labelled
» Q. Rand S to produce a correct. Choose the proper

Sequence q ‘

37.

38.

39.

40.

mong the alternatiyes

There must be countries now in which peasants

can spend several years in universities go that
P Q
a lot of young persons
R

are going without substantial meals

S
The correct sequence should be
(a) SRQP (b) PQRS (c) SQRP
Athens it was also
\——P :
the first democracy in the world

Q ;
was not only an almost perfect democracy
R S
The correct sequence should be fp o &
(@RSPQ  ()PQRS'  (c) RAPS" - (d) QPSR

The practice of taking performance boosting
drugs among athletes, : ‘

(d) QPSR

but checking it is not going to be easy‘
P »

is generally conceded to be unfair
Q

of the detection technology
R

for the user is generally one jump ahead
_ S

The correct sequence should be

(@ RSPQ (b)) QPSR (c) QPRS

(d) PQRS
All religions are to advance the cause of peace
P ~
in a holy partnership justice and freedom
Q RS
bound together |
S

The correct sequence should be
(a) PRQS (b) PQRS (c) SQPR

(d) SPQR

43 ‘Hardly had my brother descended

o)
N e

] 1
o i ; :
—_—

Al 'F-‘s.s'éf‘v

"t |
41, Seventy-two people reports ppy . &
y P :LV.‘i\lP‘. -
were affected by food poisonjp,, - - .
‘ Q ~ N {
incuding several women and gyg,
R 0
of the central part of the city s
S s 1o tid
The correct sequence should pe o
(@) SPQR ~ (b) PQRS (c) RsPq @ RSQP
42. The Prime Minister declared that %
will get all help and aid where fainﬂ P
Q- o
is effected very efficiently
S
The correct sequence should be 3
@PRSQ  G)PORS  (RSPQ (gqp

from the

when the people ' waved and cheered

P Q

" 45. Mohan, the son of my friend, e
- gave me a set of pens

from the loungs
R -8

The correct sequence should be - "

()PRQS  (B)PQRS  (c) SPQR

who had come to receive him

(@R

44. My friend when he was going to his Bfﬁce

P::

met with an accident on his scooter ’ -

. due to rash driving

S

The correct sequence should be et
@PQRS - (b)PRQS  (c)SRQP - (@) QS

which is very precious while workin .m‘_ o
who died in an accident i g
S
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ot sequence should be ‘
fhec;;re () SRPQ  (©RSPQ (4 spqR

B)Pb 3 caid I M%
The
b

friends in the class roo

Wme hen I want to p)
\\'he R

S
sequence should be

®PSQR  ()SQPR  (d)PRsq

derk gp—mg_dg_g left the money
;. The > 9 :
. the safe which he should have locked up
M/R” S
The correct Sequencé should be * 3y
(6 PORS (b) RSPQ (c) QPRS ' . (d) QPSR

013 (I
4§, The fire _@Mm
P

by volunteers was controlled in the godown
Q L R S

The correct sequence should be

@)SRQP - (b) RSPQ

(c)RQPS - (d)QrsP

{9, Some educationists should not be exposed to" -

P
believe that young children = -
Q: R
too much television viewing
g
The correct sequence should be

(@) RSPQ (b) QPRS

(6) ORPS \ W PaRs
50, Like energy crisis

p
B one of the most talked about

Q
Mulation explogion

R

m .
18 of the world these days

28

.

Ordering of Words and Sentences

'54. They decided for their friends - that afternoon

619

The correct sequence should be
@SRQP  (b)RQPS  (c) SPQR () FACO
51, The d d_og Muuﬂmmuf_fw——‘i@—&
. Q
hefoze the mgg gg ﬂggggi_h_lﬂ_t_ml
, 8
The correct sequence should be iid
(@) PQRS () PSRQ  (c)PRSQ  (d) QRSP i
52. When the driver in front of me iér.
U p it
on slammed the brakes
Q ;
I was driving in rush hour without warning
R S
The correct sequence should be
(@) PQSR  (b) RSQP (c) RPQS (d) PQRS
53‘. ,When John s{‘aw coming head on towards him

e e 1 At =

P . Q
a speeding truck he ran for life
R s

The correct sequence should be -
(@ RPQS  (b) RSPQ (c) PRSQ (d) PQRS

CPlziniflq
to buv some pre‘senté to go shopping.
R - S
The correct sequence should be
(a) QRSP 9 (b) SQRP
(c) QRPS - -(d) PQSR
55. this is the book about that I told yvoi
P Q R S
The correct sequence should be
. (a) PRSQ ~ (b)PSQR
(¢) SPQR..i - . ZHUE FOT(E) PQRS
56. He said that two years before
271 . P i .

and that he could produce

he had passed his examination his certificate
‘ R 7 S

The correct sequence should be

(a) SPQR o (b) QSRP
(o) RPOS (d) PRSQ
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57.

58.

59.

60.

61.

However noble their ends appear
since they make use of violence
P . Q

MWLL_!M@QMM

R

with untold mi for al
S

The correct sequence should be
(@PAQRS  (B)RASP  (c) PRQS

When the artist had started
p |
singing a popular song in chorus
Q R
everyone in the audience joined
S

The correct sequence should be
(8 RPQS  (b) PQRS (c) PQSR

We know that he passed but
T 5 ‘
that he sat for the examination
R
we have not heard

S
The correct sequence should be ‘
@PQRS  (b)RASP - ()QSRP  (d)SPQR
When he knew he sat down under a tree
- P o

about what to do next
Q
and thought for a long time
R
that there was no more hope

S ;
The correct sequence should be
(a) SRQP (b) SPRQ
(c) QPSR (d) RSPQ

He wanted to reach his place of work
P, i
who used to travel 20 miles to buy a scooter
) Finkiinfie R
for his son
S

(d)RQPS

() RQPS

62.

63.

8 Pafh:fin-d..

The correct sequence should be
(@ PaRs () QRSP (c)asmp

Ol
They went out j_;u_bm,%;ﬂs%

P

to spend the day at Bhimli, a f5 Gua :
Q L&;W

gome 26 km away

S
The correct sequence should be
(a) PQRS (b) QRsp
(c) RSPQ (d) SRap

Just as the goodness of ’movies

like the things which they repregent
a 4

does not consist in being .

- Q
so the goodness of music does not cong
B :
in its being like the noises we know
| S
The correct sequence should be

(a) QPRS (b) PQRS
(c) RPSQ - (d) SPRQ

ist

2013 (1)
64. It was true that the pet dog’

65.

P
would never sleep anywhere we once had
except on sofa
S .
The proper sequence should be

(a) PQRS (b) SPQR
(c) RPQS (d) PRQS

Recently,

containing memorable letters of Churchill
N P ‘., y [ )
a book has been published
Q R

by a reputed publisher

The proper sequence should be
(a) QRPS (b) QPRS
(c) PQRS (d) RPQS
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.ation has changed,

» e sﬂl‘; ¢ discussed this matter

gyl dicnd e mter
W‘M o
14 Q v —

qred to me without losing time
e
W’VR’/"— S
or sequence should be | |
T;'; é’;gp ®PRSQ  (9PRAS  (d)SPRq
@ .
ding speeches
. Afel the awar
g Afer

o prizes iven and had been delivered '
the ‘

Q R

[gotup to address the gatherin

S

The proper sequence should be ' - N

(¢) SRQP (b) SPQR (©) ngp _(.d) RQPS
(8, The management having agreed

P
the workers called off the strike
Q
toincrease their wages
R
and returned to their work

S
The correct sequence should be .
@PQRS  (b) PSRQ (c) PRQS (d) SPQR

8 All religions are to advance the cause of peace

P
D aholy partnership justice and freedom
Q R |
bound together
S

gl:correct sequence should be . - ‘
2B B)PROS  ()SPQR  (d) SQPR

'The natiye of Caribbean regarded the papaya .

P

GO ¢ . ‘ -
e 9f Its ability as a magic tree

Q R

to
;%MQQQEMH
S

b
) paggper S€quence should be
| ©PRas (g rPas (g RPSQ

Ordering of Words and Sentences 621

71. The Indian woman wants
in a male dominated society
P
as_an equal partner
Q \
and it is not too much to demand
R
her rightful place
S,

The proper sequence should be '
() SRPQ " (b) RSQP (c)SQPR “* (d) QPSR

72. This is a letter by a young lady
P
who was lately wounded in a duel
' .Q

written passionately -
R

wherein she laments the misfortune of a

S B8 B2

" Iigentleman

S

The proper sequénce should be \
@SRPQ  (b)RSQP ' (c)RPSQ - (d) QPSR

© 73. It is for a man when he accompanies a lady

P nigsingy a8
" an accepted custom to open’the door
R : S ‘

The proper sequence should be
(@)PSQR  (B)RPSQ () PSRQ (d) PQRS
74. We agreed with the manner in which you said it

P : Q
but we objected to what vou said
R ‘ S .
The proper sequence should be -
(@)PSQR " (B)SPQR  (©)SPRQ  (d) PSRQ
75. It is a wonder that migratory birds
P..
Q
always manage to find their home .
¢ flying thousands of kilometres.
S \

The proper sequence should be
(a) PQRS  (b) SPQR (c) SQRP (d) PSRQ
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”

76, He asked me would telephone hi ‘

| p
8s soon as I if I reach home
Q ‘R S o cle bl

The proper sequence should'be
(@ PSQR  (b) QPRS (c) RPQS (d) SRQP

2012 (1)

77. Most of Hitchcock’s films

P _+ were critically acclaimed on both sides of the
Atlantic ‘

Q : earning him both fame and fortune _
R : and made good money at the box offlce
S :in no small measure
The correct sequence should be
(a) PRQS (b).PRSQ
(c) QPRS s (d) QSPR
78. One monsoon evening ,
P : the farmer returned from the fields’

Q : when the sky was overcast with threatening
clouds,

R : and found a group of chlldren playmg on the
road

S : a little earlier than usual
The correct sequence should be
(a) QSPR SO '(bYQPSR
QRSP . . (d)PaRS.
79. 1t must not be 1mag1ned
P : that a walking tour,
Q : is merely a better or worse way
R : as some would say
S : of seeing the country
The correct sequence should be
@RPQS  (b)PRAS“ ~ (c)PASR ' (d)PQRS"
80. It was reported that
" P : the table
Q : belonging to a lady
R : with three carved legs _
S : was sold the next day by auction
The correct sequence should be

@PRQS . “" (b)QPRS

(c) PQSR (d) PQRS
81. P : everything was B IR 3 0¥

Q : after W

R : plain sailing JARY

S :we engaged a‘guide
The correct sequence should be'.
(a) SPQR ; .. (b)PQRS
(c) SRQP e iy (d)PRQS

N

82. The boy '
P :in the Nehru Centenary Debate

Q : is the eldest son of my frienq
R : who has won the gold meda]
S : held in the town hall today °
The correct sequence should be
() PORS (b) QRSP
(c) RPSQ (d) SPQR

83. P : of paint
Q :two coats

R : give

S : the doors , ,

The, correct sequence should be

(a) RSQP b)PSQR -
(c) SPQR (dRsPQ |

84. P : many of the old sailors
Q : say it is unlucky
R : to sail on Friday
S :who are generally superstltlous :
The correct sequence should be ;
()PRSQ  (B)PSQR () SRAP" - "(q) pgag:
85. It P
~ P :in the news bulletin ~ - =" 10
Q : did not feature ' :
R : that this matter
S' : was surprising i
The correct sequence should be
(@ PSQR  (b) RQPS. " - (c) QSPR! "I i'(d) SREP
86. P : don’t stop him
Q : for an hour
R :if you
S :he will run -
The correct.sequence should be
(8)QPSR  ()PQSR . (c)SQRP  (d) SPRO
87. P : in the evening T
Q : she went out ‘ ey
R : once a week " :
S : shopping
The correct sequence should be """
(@ PQRS  (b)RQSP = (c)qPRS - (@) SPRC

2012 ()

88. Coming late,
P :lest P
Q : he should disturb the class £
R : John tiptoed into the room i A
S : which was going on seriously - '
The correct sequence should be RPGS
-@PARS  (b)RSPQ = (c)QSPR 08
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Q: o mitting crimes
10

commit crimes
g sople .who ; tes
will go 0
ished
“ . pot punishe
;af’eﬂect sequence should be
T""gﬁs (B)PSQR (c) RSPQ
) Pto cross the broken bridge
#0E* i knowing how '
I '110 wade through the river .
. they decided
' correct sequence should be .
f?gqﬂs (b) RSQP (c) SRPQ .,
3

p  to switch off
o’ ' the television
g : please feel free |
g +if you do not like this programme .
The correct sequence should be
§PeRS” (®)QPRS  (c) SRPQ .

92, The rising prices
P : out of gear
Q : have thrown _
R :important industries
§ : many of our .
The correct sequence should be
(a) SRQP (b) RSPQ
(c) QPSR (d) QPRS
B.P: lying dead on the roadside
Q : his uncle saw an old man
R :returning home in the evening RO -
§ : with his faithful dog standing beside him
The correct sequence should be
(8) PQRS (b) QPSR
(c)Raps (d) QSPR
4. He was a scholar
:Who was adored by all those
*Who came cloge to him
1o the ast, day. of his life
though no widely known

«(d) QPSR

(d) RSQP

9

 COrrect sequence should be
8 ggﬂo (b) RPQS
PQ
. (d) SPQR

'Q:, S Couplle and their teenage daughter _
W their one room house in North Delhi

':ﬁgﬁitedly Committed suicide on Tuesday
§.

¢ comep Bbiect poverty
) SQpRrece'sﬁigggnce should be
PR . (b)PSRQ

-?WRQ

L

Ordering of Words and Sentences

96.

97.

98.

99.

- 100.

623

One should remember that

P 1lying at the side of the road

Q :if we found our neighbour '
R : unable to move because of a broken leg
S : we should show our neighbourliness
The correct sequence should be

()SQPR ' (b)PARS  (c) QRPS

P : that he sought my advice
Q : to such an extent

R : even in private domestic matters.
S : I won his confidence

Tho correct sequence should be
(8 QRSP (b) QPRS (c) RQSP
It is believed that

P : the tiger

Q : Mr Saxena

R : being severely injured in the first encounter

S : was too terrified to make a second attempt at
shooting ‘

The correct sequence should be

(d) SQRP

(d) SQPR

’

(@) RPSQ i | (b) QSPR.. (c)RQSP. . (d) PSQR"
I felt . ' i

P’ :like a Cold War spy ©

Q : for a moment B

R : to whom a critical secret

S :had just been'revealed -

The correct sequence should be .

(_a) PQRS (b) PSQR .-, (c) PRSQ (d) QPRS
The dacoit | '

P: many heinous crimes .

Q : had committed ouly ,

R : who carried a reward of T 50000
S :onhis head = :

- The correct seqdenpe shodfd be

101.

(8)PRSQ - (b) QPSR

(©)RQPS. - (d) Rsqp-

,Although the train was delayed by half an hour

" P : he could not reach the station

102.

Q : to catch the train
'R :'in time

S : bound for Delhi

The correct éequence should be iy
@PARS  _()PRAS  (g)amPs  (g) PSQR
When the rain stopped P
P :'we set out

Q : to stay the night

R : where we had planneq

S : for next town £ S gt
The correct sequence should pe

(a) PQRS (b) QPRS (c) PRQS i(d) PSRQ
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103. Dr Ray;

P : has been appointed reader in the University
Q :in the recent selections ‘
R :in a Private Degree College
S : who was working as a lectiirer
The correct sequence should be
(@PASR  (B)SRPQ  (¢) QPSR

104. The principal has issued a notice
P : will have to vacate the hostel
Q : that those junior doctors
R :if they fail to join duty by next Monday
S : who are participating in the strike
The correct sequence should be
@QSPR  ()RasP (o) PRQS
105. P : as I stood on the mountain
Q : I watched the early Sun M@
R : burn off the mist that covered the forest
S :on the fifth morning ‘
The correct sequence should pe ;
(€)SQRP  @)sPaR (g PSQR . . (d) QSPR
106. The TV News reader announced that '
P :ten people ’
Q : when a mad dog
R : bit them
S : sustained Injuries

(d) SQRP

(d) QﬁSP

Directions (Q. Nos. 112-194) In this sectigy,
consists of six sentence of a Passage. The
sixth sentences are given in the beginning
The middle four sentences in each have be
and labelled P, Q, R and S

Out half Of
e gb: the blindness of R T
: vitamin A shortage ... s
R : is attributed to g e
§ :children in India - g
The correct sequence should be
'()QRPS  (b)RPSQ  (c) PSRq

110. What a wonderful thing ij: is i
0. P : the Sun is the source ..
: of all power &y
g : in some way or the other
S : to think that
. The correct sequence should be itk
(@) SRPQ  (b) PSQR (¢) SQRP ) e
111. P : it rained and ¢ hundered anq the chijy
Q : who was collecting clothes op the ling |

Oy, |

R : ran upto his mother v,
S : tosave them from getting wet -,

- The correct sequence should be :
()PQRS * (B)PRQS (c) PSRQ @ pogy

» €ach j
first angy,
95 S, andg
en jumblg

The correct Sequence should be ‘ | ()
(@ PARS  (b)QPRs (©RPQS. . (d) PSR
107. P : we were Now moving slowly but steadily and

. You are requ‘irjed to find f,
proper sequence of the four sentences and marb .

response accordingly on the Answer Sheet .

had Copoor o 2011 (Il)

g gzrn;::a:fl stop ety 112, Sl:.-‘I‘will not be able to see you tpméﬁﬁwf""
S :in order to regain : 21 (R Sg 1 At any rate I'll see you later _in_"the week,
The correct sequence should be

ere is only a simple laboratory test tol
done. e

P
a) PQSR
(a) Q : Once | know what the diagndsis is,“I““
R
S

108. I have reaq
P : who by some mysterioug ]

Q :in the form of a foul and
R : the story of a fairy

®PARS. . (@)sPaR | () qps

contact the doctor.

Howeyer, if you like, you can phone II:i‘_*;l
: We wi

aws of her nature
Poisonous snake

) ‘ e ol L The corr
- Wag condemned tq appear in certain séasons (@) SPRQ ¥of sequenie S{zould o ;
The correct sequence should pe % (b) RPQS \ i\
(2) QRSP (b) PaRQ . (©) SRPq
" (¢)RaPs (d) RPsQ i -~ . (@ Rasp

| 'Scanned by CamScanner




Ordering of Words and Sentences

1 in sent General  Zhukoy to
! Slzsm nd in Leningrad.

P pomma : |

1 c0e pattle for Leningrad wag

& er foughte
eve the city was prepareq for Street

a8s8ume

he fiercegt

 Trué,
P'ﬁghtmg- )

st that time no one knew whethey the city
Q :coﬂld be saved.

. o one knew thfz answer, i
R B 4t would the city’s defences hold?
: correct sequence should be
IR B)QSPR  (c)QPSR

pacteria in the mouth. can cauge
114.51' ond painful tooth decay. | _
.Toothpaste advertisements are truthfy) when
S* they‘advise us to brush regularly, P
. Children’s eating habits leave.
: tooth decay. .
q:They grow in food particles left between
teeth.
p:They often eat sweets and oth
petween meals.
g : Therefore, regular brusping after every meal
eaten at home 1s essential, ‘
The correct sequence should be

(@PasR .. (b) QPRS (©RSPQ (d) QRPS

5.5: The five-year plans are meant for the
nation’s economic development. =

§;:The most important is, certainly, failure on
the family planning front.

P : What are the reasons for it?
Q : One way of measuring a nation’s development

(d) RQPs

bad odoyp
them prone tq

er . items

is by finding out how much progress there

has been in the fight against poverty.

R : The reasons are many.
§:In India, every Five-Year Plan ends with

more people coming under the poverty line. -
The correct sequence should be

WRPS  (b) QSPR () PRSQ - (d) SQRP
5116‘81 : Man’s growth from barbarism to civilisation

: S supposed to be the theme of history.

¥

| $lmany ways, therefore, man has not made

) YE1Y great progress.
: tron

Q' Oneg; .

! :l}?ut it i difficult to believe this ideal has
¥ reache ; |

'bodere s ample evidence of barbarism even
- May,

§ Countries attack and oppress weaker

g, 0ay.
MGI::,dJWduals too exploit their fellows.
(a)QRP;reCt Sequence should be

" 'ORasp () qrsP

(dyRPSQ

A

117. g,

‘(b
C

625

* The lion used to be very widely distributed
in Africa and Asia. ‘
S5 : No hunting is permitted in such reserved
areas, '
P : There are, special forest zones set aside for
wildlife in various countries. ‘
Q : Indiscriminate killing by hunters has been

the cause of this drastic fall in their
numbers,

R : Today they are a relatively rare species.

8 :If the species survives at all, it will be only

in national parks,

The correct sequence should be
(a) QsPR

() SRPQ

- 118,

S¢: This . proves that the

) RSPQ
)

(d) RQSP

S;: Though the Finance ‘Minister cIaims that

prices have become ‘stable, facts do mnot
support his stand.’ i

| government is - not
properly informed. :

:What is worse, in some places it is not
available even at the exorbitant price.

"+ Sugar is a glaring example.

P

Q : Now'it is above 7 10
"R

S

: A month back its open-market price was ¥ 7
per kg.

The correct séquence‘should‘\be -

" @PRQS ¢ Sk

(b) SRQP
(c) PSRQ
(d) RSP

2011 ()

119. S;: Einstein was very simple in his _ways of life

and indjfferent to his astounding fame.
Sg:So they went bac® ‘5 the Queen “and

informed her that he had not come by the
‘train.

P :They could never imagine that this .shabby

man would be Einstein himself,

Q :Once the queen of Belgium invited him to L

R : The officials also expected to

VS : When he

Brussels. ot

see somebody -

who would appear to be rich and aristocratiec -

""" 'before them. IS A

got ' down ' from ' the train at -

" Brussels, he could not think that there were
actually many gorgeously dressed officials ‘to- .
receive him at the station. :

The correct sequence should be i o

(@) PRSQ  (b) RQPS () QSRP_ (d) SPRQ
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120. S,: Jagdish was tired after the long walk
ick jungle.
oty d that there

through the thi
Here, to his satisfaction, he foun

Sg:

‘ were hardly any mosquitoes.
P : As night fell he came to a swampy place
a lake, where he decided_l‘fp camp.

Q : At last, 1n despair, he gprang into the
branches of a nearby tree and climbe

top.

R : But the place was 80 full o
he found it impossible to gleep.

ket on the grou

S : He spread a blan
stretched himself out on it.

The correct sequence should be {6
@ PSRQ  (b) PRSQ (c) PSQR (d) PQRS
121. S,: What kind of India are we working for and
what kind of world? e
S¢: Some small part of that dream has come
true, but not in the manner I had imagined,
and so much still remains. o
P : Surely not, if there has been any truth in us
and in our professions. ‘
Q : Here in this city of Allahabad my boyhood
and youth were spent 1n
and seeing visions of India’s future. . -~
R : Was there ‘any real substance in~ those
dreams or were they mer
fevered brain? _
S :Are hatred and violence 2
communalism and narrow provincialism to
mould our future? s P N\ -
uld be

“The correct sequence should t N
(a) PQRS (b) QRSP (c) SPQR (d) SQRP

122. S,: Pasteur began his
investigations when h
_Chemistry at Strasburg:

Sg: The pasteurisation proces
prescribed wine and beer is use

gafeguard L..& t0O. o
P : He also found how germs causing changes in
materials could be contrqlled by heat.

. He made a thorough study of the wine

industry in France. .
R : He thus saved the wine industry from ruin
by this work. : :
S :After careful
produced the germ theory
The correct sequence should be
(a) PQRS ~ (b) QPSR
(c) SQPR -« (d) QSPR

near

nd and

nd  fear and

fruitful - scientific
e 'was Professor of

s whicl‘i he
d now at

and extensive investigation he
of fermentation.

f mosquitoes that

dreaming dreams

ely the fancies of a

123. 8y

124.

Sg:

:1|25 :

() QRSP (®) SRPQ
53t Mental disability, whether ll.n-en.tg]
_retardation or any other ldéVElopm
icability, is not the same as mienital iiinegy
And the earlier the better. . {774 SEEL
P : A person with mental disability can certaiy
be helped to improve, = but "mai’h]y iny
it childhood. = = g E e 0
Q : But mental disability has no cure. o
R : Mental illness has an identifiable, cause i
may be cured. S
g : Not the best doctors nor all the mediéiﬂésin
_ the world can cure mental di‘sabi]ity. e
The correct sequence should be 1 g A
()PSQR () QPRS- (9 RQSP . (d) SRPO
S,: A devastating earthquake had hit Mes
- city. : 5 e
Se: The condition of 1000 others ]\l?\iésw,,l‘?Pom,d
~ unsafe. ST RERa T
P : Fifty more were later judged' *dang'é,rmf%s‘?
- close to fall. i e AT
Q :The quake’s force was measured 8t 8¢
the Richter scale. g
R :In four chaotic minutes, an estimafed‘.z .
- buildings collapsed in downtown Mexc® 5 Z'e
S : It was the world’s most severe quakejslf‘:
the quake in Chile last March. s 9
The correct sequence should be iR
R

Sg:

s

The correct sequence $ e
~ (c)QPSR .7 (d) Pdﬂsi :

() SRPQ . - (b) QSRP - (c) PGSR .-

. While

4 But
money—-w

. There are m ]
a single room; they g, M
&5

In democratic coun.tries men are-é- ;
|aw, and.have & YoCs T deciding Eua.l‘béh;'z
whom they ghall be governed, “ov",«and

live llke this not for ’ B)

And theyh re too poor t
ey a 0or. to affe, n
‘ fOrd an} bu‘

pecause t
room: ] ; %@,
gome few people live in lu;';"
¢ even enough to drink an d‘hﬁy, ng
with respect to  the Wear, “)
hich means the sharing o Ting
nd houses and books ang Bt;) : a;:
On t

till very unfair.

any families of 5 N '6;p' :
er,

have no

clothing 2
gystem 18.8

who live in
dress and wash and eat their meals, inant
y th-"

game room they are born; and in i

they die. v

Even in the finest of world’s cities thoy

of people live in dreadful surroun dingsusa“dl
hould be o D
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destrue

Ordering of Words and Sentences

ubtedly: science has done wondeyg,

gcience, which was once considereq

. . \ o

tive power only In war, it ba
e

jsed as one also in its g
tive activities during peace Pparently

in giving such an answer, our attention

cogh

. But
, . Bt ¢ not be taken up entirely by the danger

mus

nuclear weapons and chemical warfare

-om
,f;ﬁe ponest answer has to be, “not always”
Q: ut has it stOppegl with wonders which ;11«
B+ eneficial to mankind? ©
S-There is far greater real danger from the
k Jamage to the environment arising from the
so-called peaceful uses of science.
The correct sequence should be
grees  © SPQR  (O)SRPQ  (d) PQRS
010 (1)
1.8 When he joine.ad the college, he was an
adolescent and immature.
5,: But his sagacity helped him get a good job.
p : He learnt a lot from his experiences at the
college. : i ‘
Q:He had to get suitably employed.
R : Four years of study in the college changed
him completely. : ‘
g : When he left it he was ready to face the
problems of life.
The correct sequence should be
@PQRS | (b)SRQP  ()RPSQ  (d) QSRR
18.8,: There  is still another . important
characteristic of living things.
Ss:And abrupt changes occur too, which are
called mutations.
P : One generation is not a perfect copy of the
preceding generation. j
Q : Plants and animals are not exactly like their
parents.
R : That attribute is the capacity to evolve.
S : There is a continual realignment of inherited
characteristics.
The correct sequence should be
o @PsoR.  (mRQes  (c)ashP (@ RSPA
*8;: Your resources, like money are limited.
5% For that matter the need for 2 leader arises
P :;I:)ly n re]gtion to other People-
Q 1Ev: mu§t invest them WISzelY- 4ed b
rtything cannot be directly attende y
R Yourself. :
‘§§°ner or later you should lear? to delegate
§ .+ r authority to others.

Aoy have to depend on Others. ’

130.

131.

132.

133.

627
The correct sequence should be
(@)SRPQ  (b)QRSP  (c)PRQS  (d) SQRP
8,: In ancient India the city of Ujjain was quite
famoud.

S4: 80 one can see what a great love all who
cares for India must feel for this ancient city.

P : Here lived at one time the poet Kalidas.

Q : He was a famous learned astronomer.

R 5Afld here also came and worked Raja Jai
Singh of Jaipur.

S :It was always renowned as a seat of

~ learning.
The correct sequence should be
(@) PSRQ  (b) SPRQ (c) QSRP (d) SRPQ
S;: One of the odd-looking birds of the ocean is
. the penguin.
Se: With the aid of flippers they can dive into
the water.

P : Penguins cannot fly.

Q :It is found in the cold regions of the
Antarctic circle. ,

R : Their wings have been changed into
swimming flippers.

S : They use them like oars.

The correct sequence should be

(3)PQRS () QPRS  ()RSPQ

S,: Clothes should fit well.

S¢: They absorb sweat from the body and pick
up dust from the surroundings.

P : Clothing that is too slack chafes the skin and
is uncomfortable.

Q : Tight garments can constrict the organs of
the body, especially those of the abdomen.

R : Clothes should be kept clean.

S :If they are too tight they can constrict the
blood vessels in the skin. ;

The correct sequence should be
(a) PQSR ' (b) QRPS
(c) SRQP (d) SQPR

S,: Get hold of the catalogues of the colleges in

the United States.
Se: They all aim at the first rate.
P : I think there is a common feature and that
~ every course given has a similar aim.
Q :Is there any common feature in these
courses?
R :You will find courses i

subjects.
g :Is there any. aim which all of them have?

The correct sequence should be
(a) RQSP (b) PQRS (c) RQPS

(d) QRSP

n innumerable

(d) PRSQ

: —
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136.

pall
o on B
< W ton atrenim o
8): If we dump A ” lves it and l)lll’lfIL‘H it )
seale, the atyeam dm.suui ] i Lution wl(]
Sq: For this ovvrwhclmmﬂ‘ :?:L hich W cn
© ~0i new ter
peed to coin a
mlhor.pollution. Sith the qmall
p It can no longer deal gvcn' i N cepte
'qunntit\' of sewage which it 01
without difficulty. 4 pure
Q : Ten miles downstrean the water
again. |
R : The system has broken down.. e Gewage
q - But if we dump large quflfmmvtfmctcriﬂ o
o » killi J rify1ng :
we end by Killing the pur e
then the stream has lost its power to P y
The correct sequence should be 1 QRS
(a) QSPR (b) RSQP (c) PRQS (d)
i i urers
. 8,: She was born in a poor family of labot o
and died because poverty could not le
live. :
Sg: So, while the world was c'elebrz;;mg
International Women’s Day, Rita's mo er,

Mrs Veena, spent the day trying to get her
daughter justice, which eluded her in life.

P : She died not because she was ill, but because
che had been allegedly beaten by her
husband and in-laws for not  bringing in
sufficient dowry.

Q : At the young age of twenty, Rita breathed
her last at JP Hospital on 20th February.

R : Ironically, however, no one paid heed to
Rita’s woes when she used to cry for help.

S : The police have not taken any action either
till date.

The correct sequence should be

(a) QPRS (b) SRPQ
(c) PRSQ (d) RPQS
S,: We were so evenly matched that for a time

the end was difficult to tell.
SG:Tthen],& }}:is comrade's knife, thrown at me
struck him on the back and piercing i ite
e N\ piercing 1t, quite
P : Already I was counting hi '
' g him a de
myself victorious. .ad A
Q :I had only to wear him i
¥ merey. out to have hun at
}g{ Presently, however, there came a change
5 :My opponent’s wild living - made "h'
: ;r;c:pﬁl.)le of coping with ‘a prolonged b m:,
18 strength seemed to start eh o

away, bing
The correct se
quence sh :
(a) SRQP o?bld b
(c) RQSP ( d; gggg '

138.

139.

140.

SHE |
e he took to find out the strength of the e w

owper was gorn in,,1731‘f s
8¢ erkhamsteac. B |
I rectory %BtminSter in 1748, " U kg

¢ We e
' :?ﬁjﬁfboth sides (mother and fathey, ‘g
], ’ : ecte ¢ g A : w { .
well-co::he gon of 2 country rectop,
. He wa® was sent to 8 boarding hoy,
R Cowper illage where the bullying e at § :
earty :Jls inﬂammation of the eyeg, °9ght%,
ner‘g)en moved 0 Westminstey S
:H ﬁerte he was reasonably happy, - ch% :
The correct sequence should be i)
e N, i
(a) PQRS (b) PRQS © RS@P 0 @ |
g,: John Young, the astronal.lt, -pﬂotedm B
75-ton spaceoshuttle, Columbia. =~ *E
g.:And it moved smoothly to a stop as thééf !
6+ ruShed to greet it. i ew z
P : The Columbia, however, land_ed safely 3f"th, :
- Edwards Air Force base m._.the» MO]'ay; ;
desert. . iy
Q : The space-shuttle circled the Earth 3 tip, f
. It was dangerous because a re-usable q
X \INas being used now. i mft
g : This flight was fraught with da_ngers. i
The correct sequence should be ‘ ey
(a) PQSR (b) SQRP (c). PRSQ (d) QSRP -
Sy Rutherford was the son of a Scot emigranty
O 2

New Zealand. ¥
Se: Life was hard, but it was adventurous,
P :They had 12 children, of whom Rutherford
was the fourth. s
Q : His father established the first flax milli
South Island. st LU
R :He was brought ‘'up in a ‘real frontie
atmosphere and it entered into the natured
the man. ) o ekt Thad
S :His mother was the first woman “gchod
teacher in New Zealand. g
The correct sequence should be

@PRQS  (b)QSRP  (c) QRSP :
Sy: Isaac‘ ~possessed a wounderful ;fac“lt,y. ‘|
;‘?umng knowledge by the simplest mesd®

Us, even in his boyish sports he i

continually s ; : crets JaF
philosoph ;’ earching out the 8¢

@S
SG .

B )

Q :zzt not'hlng could be more simple.~ -y
c‘o:xll Will never guess how the bOY;CO&;ﬂ :
pel that unseen wonder, the Wil‘,d"t?-_/v; ]

. hi
5 FLI: Fhe measure of its strength. " pos! '
instance, what methods do you 5%yt |

€ jumped agaj ; 4 by !
length against the wind and "7 iz E
force of(zflét%veinjdump he»_cq\.llld_._calf‘dat:e = B
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Ordering of Words and Sentences

el sequence should be

or’
W( S (b) QRSP ; (©) HOPS (d) PSR Q :Tumaj wished people to dis,
o ifeis gift of God to man, :i{ 3'1{/1'}"’ two gods quarrelled about many things.
& 51: S ord! -Wlmt fools We mortalg grg) ’I'h;- mllk:‘:f, did not,
55: What an m\{nluul)le.glm . i r-) H,O:rt el m'(/n:'/'mr should he . »
. Bvery morning he fills 24 houyy iy, wallety of 145 r v IR - I BRg Gl
Q'ench of us~an(_1 never asks question, ) 45, 81 Mo n forcign Jenrner, English pronunciatio
 The other 18 time. presents the greatest difficulty.

i} ;Irrespcctlve of these gifts, we Erumble, Sq:But a knowledge of Phonetics will help

; correct sequence should be great deal in learning correct. Englisi
The RS (b) PRQS (c) QRPS (d) RSPQ \ pronunciation,
(e ] ; witPes Words are spelt in one way and pronounce:
. The common man has a vote in Parliament in another,
W .I.For that, his sole resource is hig native wit 9 F Jor instance ‘u’ has diffetent Pronunciation:
O and will. in ‘but’, ‘put’, ‘build’ and ‘bury’,
It he likes to make use of the machinery of a % < The English language is notoriousl:
P democracy, he can have questions asked in . u‘n-phoneuc. ,
he house. ey 8 i The same letters give different sounds i

But there is no machinery by which he can different words.

Q :control the organs which mould opinion, ~ The correct sequence should be
R oI the last resort he can déstroy one (a) PRSQ (b) QSPR (C) SPQR (d) RPSQ
‘government and m_ake another, - 146. S,: There was something about the smile of M
g:He has a parliamentary representative Acton, when he came over to Sharma’s table
whom he can badger and heckle. . - which betokened disaster.
The correct sequence should be Sg¢: Specially, since Mr Acton was not known t:
QPSR (b) SQPR (c) PRQS (d) SPRQ i smile too much, being a morose, old Sahik
g ‘ ‘ hard-working and conscientious.
| ; e de et . P : The fact that Mr Acton should come over tc
0o () o i his table at all, fawn upon him and say wha
10,8,: Unity in diversity is a unique feature of . he had said was, of course, most flattering.

India , Q : For, very rarely did the head qf the firm
g ‘Have. i end TS Ibook" 7 'youf 'sh‘ould | condescer}d to move down the com}%ci)r, whers
s-d : £ ! the - Indian st?lff of Henry King an
0 50OV, 1 Company, worked. -
P : They should, therefore, first try.to know the

A . R : But that smile on Mr Acton’s face!
mind and spirit of India-the Indian-ethos, so S . But as the Sahib had only said, “Mr Sharma
W8y | ¢ § I have brought something for you specially
Q:Nehru has referred to this unity very . from London, you must come into my officc
feelingly in ‘The Discovery of India.” . on Monday and take it...,". Sharma could not
R : Those who do not see this underlying unity  gurmise the real meaning of the General
in apparent diversity fail to understand this Manger’s remark. -
country properly. s A : , . The correct sequence sh_ould be ‘
S Then, they will discern strands of common . . () spaR ~  (b) PRQS * (c)SQRP ' '(d) QRSP

heritage running all ‘throughhth:' gi;ff:zigﬁ‘:; 47,8 Arun suddenly found himself in the streets.
0 :

of language, dress, food, met S.: When he applied for the refund of his
X ' ®" gecurity, there was hardly anyone at the

The torrect sequence should be other end to receive his application,

'8 Rsp (b) PSRQ (c)SQPR (d) RPSQ /.. p-+There was a little mongy in the bank and he
“5t' There was a legend among our peop'le thal: ,};‘?‘2 So;?;:t:::rznglgf:g .down, and he could
:f:esisland had once been covered LinRe e o hardlr;’ realise a (fe}»:' h:lnd:i(il ::;(;(;S(i 't“ho ai
e:Tum;li pa ik L gnofher world; . R : At qutn::?ec:futlhis g;llaypse.
p . 2 people gié i'o(\ivaenb bt o ho-didh e £tz slgnlh stock moved out slowly.
Thi y becats® . - beginning of S : But the

S Was a long time ago, at !
the world when Tumai and Mukat ruled.
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148. S,: Science has given up powers fit

The correct sequence should be
(@) PSQR  (b)SQRP (@ RPSQ  (d) PQSR
for the gods.

Sg: And we should remember that they are very
stern masters.

P : For example, we do not know how to manage
our machines. .

Q : Yet we use them like small children. ,

R :But in practice, they have become man 5
masters.

S : Machines were made to be man’s servants.

The correct sequence should be

(a3 RQPS  (b) PQRS . (c) QPSR (d) QPRS

149. S,: It follows that we should enable all

individuals to live a full, free, rich life.

S¢: This does not mean the regimentation of the
individual. '

P :We talk often of a socialistic pattern of
society. .

Q : We must help to ‘bring up the buried
treasure in each individual without breaking
any of it.

R : That is why we have universal education as
a target in our Constitution.

S :For this, certain minimum cultural and
economic conditions must be provided.

The correct sequence should be

(@ QSRP  (b)PRSQ  ()RQPS  (d)SQRP

150. S,: The advancement of science is not a secret or

a mysterious process.

Se: What is he to think but to marvel at the skill
of science, and to fear its power?

P : No one tells the layman about the years of
experiment and failure.

Q : If it sometimes seems so, that is just because
the day-to-day work of  science 1s S0

. unspectacular.

R : How is he to know what has not been done,
or to guess the labour of what has?

S : You hear nothing from the research worker
for years and then, suddenly, there is the
result in the headlines; penicillin or the jet
engine or nuclear fusion.

The correct sequence should be

(@ QSPR ' (b) PQRS (c) QPSR (d) sQPrR

151. S;: I am the manager of a travel agency in the

city. i
Se: I spend those 25 minutes doing crosswords.

‘P I usually catch the 8 o'clock train for my
journey to the office. ; 2 :

152.

153.

154.

€S Pathing,
b

Q : 1 live 16 kilometres out of the city
have a small room. ; -

R : 1 go to work on the electric train eye

S : The train takes about 25 minuteg ¢, ay,
the city. . ge

The correct sequence should be

@PRSQ  (B)RAPS () QPR (d)spay

S,: Until the first atomic energy bombg fol]
Hiroshima and Nagasaki, the atom , R
behaviour had been remote from eVerlts
affairs. 2y

Sg: So the idea grew up that the product of b
years at atomic research had led only tong
fresh weapon of destruction more pOWerfa
than any known before. u

P :There was  something
incomprehensible about them.

Q : And secondly, that something ney and
devastating had been added to the ljg o
man’s victories over nature.

R : But it, in the first place, made us realize
that the atom and its ways were no longey
something apart from everyday life,

S : The atomic bombing of Japan did not resgly,
that incomprehensibility. :

The correct sequence should be

wher,

queer ang

(a)PSRQ  (b) PQSR (c) RSQP (d) SQPR

S,: Jagdish Chandra Bose was born “ o
30 November, 1853 at Parikhal, now. in
Bangladesh. ' ;

Sg: He himself founded some technical and
industrial schools. ‘ :

P : But he also knew that without technical
education India could not become a great
nation. ;

Q : His father Babu Bhagwandas was ¢4
remarkable man. AR

R : He had a high regard for India's ancient
culture. ‘ Celn

S : Though he was an important” government
official, yet he did not pgive up his
independence of thought. P

The correct sequence should be.

(@QPRS  (b)RSQP  (c)QSRP  (d) RPSQ

S,: A gentleman trying to get a fly out of th¢

milk or a piece of cork out of his glass of
wine often imagines himself to be irritated

Sg: But I pointed out to him that this sens¢

wrong was really subjective and relative
rested entirely upon the assumption that t0¢
drawer could, should and would come %
easily. k!
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. have known some peqple
;Agam’n views driven by their digtyeg Oi very 157
P pod rf theological terms to whici Ot}f;he +8;: As a first step we have made the tribals
usfached no doctrinal significance mere‘iy Eelebrate the Itu Kula festival on the same
S8 o a dravvex was jammed tight and they Syt Villagorwi |
beuld not pull 1t out. : : ¢ Village-wise environmental status reports
c0 ryday  Dis drawer was jammeq were prepared to help people in assessing the |
Q:E"e day in consequence it wag som, thgnd remaining natural resources such as drinking 'j
ereer }t’hat rhymes to it. €thing ;vater, extent of grazing land, and number of |
els e : ruit-bearing t bird, animals etc !
. f mine was parti i ; g trees, bird, animals etc.
B°A-fﬂfvr£f.o partionlarly afflicted in P :For the first time in the history of this |
this ¥ think for a moment of : region, during this festival, an Adivasa i
g :Let hlgnrs sitting by dark 001 £28. pationce darbar was conducted.
of 208 ie immediately l;r:ail’iaatr;g fet 2 Q : Tribes from Madhya Pradesh and Odisha
Oztiﬁcation and repose. with \c‘lvae:saralso invited to participate in this
The correct sequence shoubld be R :We could achieve -emotional integrity J
o sPRQ (b) PSRQ amongst tribals which resulted in this °
©QPRS (d) SPQR success. j
‘ in his earliest e g S Fpr centuries they were celebrating it on
. B Even ¥S, man had different days and in different ways.
governrnent.

5,: As the number of men multiplied, hunting
bands grew larger, divided and formed
independent groups.

p : When he grew old and-dull, another leader
took his place. '

Q:As he stepped outside, he joined with other
men to form a hunting tribe that learned to
work together. ;

R :Its simplest form was the family, where man
had authority over his wife and children.

g :Probably the hunter with the right
combination of strength and cleverness
became the leader of the tribe.

The correct sequence should be

() QRPS (b) RQSP

() SRPQ (d) RPQS

156. 8,: The oil found in natural state is called crude

oil. :

S¢:Last of all, the lubricating oils of various
grades are produced. .

P :Itis used as a fuel in heaters and lamps.

Q:It is treated in refineries, the most common
form of treatment is heating. :

R + Gas that comes off the oil later is condensed
Into paraffin. _ _

S : When crude oil is heated, the first vapours to
tise are cooled and become the finest petrol-

The correct sequence should be

@) qspr _

() sPar

) sarp

@) qsrp

158,

159

‘(a) SPQR

The correct sequence should be

(@) SRPQ  (B)PRSQ  (c)QSPR ~ (d) RSQP
S,: Happiness, after all, is an inner state of
mind.

S¢: My point is that it is not wealth but
co-ordination of one’s thought and action
which removes inner conflicts.

P : Some of the most miserable persons I have
come across in my life are rich.

Q : It is little dependent on outside environment.

R : Happiness has very little to do, for instance,
with whether you are rich or not rich.

S : 1t is true that poverty makes one miserable

' in a very acute way.

The correct sequence should be

(b)QPSR  ()RSPQ  (d) QRSP

S,: It was in 264 BC that'the great struggle
between Rome and  Carthage, the Punic
Wars began.

S¢: But the Romans, with extraordinary energy,

‘set themselves to outbuild the Carthagians.

- It gradually developed into a struggle for the

possession of Sicily.

. The advantage of the sea was at first with

the Carthagians. ;

- The First Punic War began in that year

about the pirates of Messina. g

: They had great fighting ships of what wa

“hitherto an unheard-of size. :

The correct sequence should be »

(@)RQSP  (B)RPQS - ()PRSQ = (d)QSPR

»w W o ™
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LOO. 81 Ovoronting in onoe of the mont wantoful

practicon nmong thoie who enn afford 1.

St The evoning monl ahould b light and should
bo tnken threo or four howr hofore golng to
baod,

T A lnegoly wantod,

Q A hoavy meal at night boforo rotiring fu the
fashion with many,

R While slooping, thin food s convorted into
oxconn fat and thun makoa n person fat and

ungainly.

8 1 Three to five hourn are noedogd, tp, digest the
food, L

The correct sequence ahould be Wi

(0) QSAP (1) SRQP

(0) POSK (h) QPSA

161, Sy: 1 punsod all tho othor courses 'l,]ih“l}‘l.l.unk nt

(VY 5

my univoersity. il
Sq: This uaed to enrago my ilnm'ucf,’m'ﬁ
P 1 nover onco saw n coll IIn'uuuh’uﬂ Hlicr(mcopu.
Q : Thin was boenuse all Botany Hl;l‘lvl‘l‘(!m& had to
apond sovoral hours n week luolc‘lhlg through
microscopos at plant colls, i
R : But [ could novor pass Botany. )
§ 1 could novor seo through a microscope.
The correct sequence should be v
(a) RQSP (b) QPSR (c) RSPQ - (d) PQSR

2009 () a)

162, S,: Long long ago there lived n king who was

erudo and vory much liko a savage,

Sg: Or at lonst ho tried to,

PP : Hoe wns a man of great fancies and even
groator enthusingm,

Q : Becnuso he had so mueh authority as a king,
he was able to forco some of these fancies
into renlity, -

R : Heo had none of the grace and polish of his
neighbours,

S :He had learned some manners from ‘his
Latin  neighbours, but mostly he was
barbarie, loud and gruff,

The correet sequence should be

(a) RSPQ (b) SQPR

() RPQS (d) PRQS

163. S;: Our ago is the ago of the spocinlist

8¢: Wo have to reckon with the spirit of science,
understand its limitations and an outlook
which is consistent with it findings.

P : Modern specinlisation had led to the
fragmentation of knowledgo.

Q : Each one knows more and more about less
and loss,

N

CDS Pathfinder

I+ We should not only be Hp’cguin”"m b
have n sense of the meaning of Jif, ‘lh:; -
socinl renponsibility y

§ ¢ Wo concontrate on #ome narrow fig,
forgot the lnrger context in “.fhl'ch we g :,,1
the menning of our own specialipation "

The correct sequence should be

a) POSR (h) QPRS
503 SPOR (d) QSPR

164, 8,: Ho wont Lo his friends, but none of thep, Wi

rendy to help him now,

8,: Now the Youngman understood that h hag
made n mistake. ;

P : He had to look after the farmer's pigs,

Q : And when he ‘was hungry he ate the foog
which was given to the pigs, 7

R : He went away from the city and Wanderg
round the countryside looking for food tq cat,

S :In the end he went to the house of g farme,
and became his servant.

The correct sequence should be

(1) PSRQ (b) RSPQ

(c) SQPR (d) QPSR

165. S,: Man, when first came, must have been

surrounded by great animals and he mug
have lived in fear of them.

S, Gradually, however, man raised himself and
became more and more. powerful till- he
became stronger than any animal,

P : He makes the animals do what he likes.

Q : But in those days he was not the master but
a poor hunted creature himself trying to
keep away from the great animals,

R : Today man is the master of the world,

S : Some he tames, some he eats and some he
shoots for pleasure.

The correct sequence should be

(a) RQPS (b) RSPQ

(c) RPSQ ~ (d) PQSR

166. S,: Convention has a necessary part to play in

the life of everyone, :
Sg: Their purpose, however, is always the same.
P : It is necessary and useful for this reason.
Q : Of course, there is nothing absolute about
conventions.

R :They vary from country to country, from A8°
to ago,

S : In all social affairs it prescribes more of ]es§
generally accepted rules of behaviour.

The correct sequence should be

(a) SQRP (b) PQSR

(c) RPSQ (d) SPQR
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o can seriously pretend to remain

. No f;‘)ecte d by advertisement,
un 2 they seem so va_ried all these
=T§3zrtisements have one thing in common
a

o ake strong appeals to our emotions.
they i the sanctity of our living rooms
1Eve:rtisers pounce upon their helpless
a-d‘iims as they tune in to their favourite
ﬂcdio or televison programmes,

ra

. impossible to turn a blind eye to the

. t 15 lmp - R

Q7 i citous overtures to buy this or that article
:gat fill our streets, newspapers and
magazines:
. Most often they bank upon our sense of fear
"for not doing or possessing this or that for
our youth, beauty, health and security.
. No matter how hard we resist, clever little

5 tunes and catch-phrases seep into our
subconscious mind and stay there.

The correct sequence should be

gpash  (QRPS  ()RPSQ  (d)SaPR

6. 5,: A great part of Arabia is desert.

S5 Such place is called an oasis,

P : The sand is so hot that you cannot walk over
it with your barefooted in the day time.

Q : These springs are few and far apart, but
wherever there is one, green grass very soon
covers the ground all around it.

R : Here there is nothing but sand and rock.
: Here and there in the desert are springs of

water that come from deep down under the
ground.

The correct sequence should be
(@PSRQ  (b) RSQP (c) RPSQ (d) PQSR
169. 8, Many things about Konark seem shrouded in
mystery.
Ss:

King Narasimha probably had it built as
Much as a memorial to himself as he did in

honour of the Sun-God.

1t is, of course, a religious shrine.

But here there also seems to be a great
emphasis on purely human grandeur.

* Why was it built?

Long before the temple was built, sometime

o

- ©O o

glvﬂie 13th century, Konark was one of the
The e 01ie5t places in Odisha.
@) RPQSTEN Sequence should be
Mg, ORPSQ (@sRea  @SPOR
cl::: of you probably did not see Gandhiji at

4 Quarters.
SG- The iy TS

sult ol £
to be E50d. was that the poor may had to try

.

Ordering of Words and Sentences

nx O ©

n =W oov

173. S;: People think that poverty

~ Sg: All great men were born poor.

633

: One of these qualities was that he managed
to draw out the good in another person. :

: But he somehow spotted the good and laid
emphasis on that good.

: He had an amazing qualities.

: The other person may have had plenty of evil
in him.

The correct sequence should be
(@ QPSR (b) RPSQ (c) PRQS (d) QSPR

171. S;: Everybody thinks that this is the Age of

reason. \

Se: Obviously we must re-examine the view that

this is the age of Reason

: Reason takes a backseat at such times.

: The ordinary events of life seem to support
this view. i :

: We must therefore avoid the development of
such situation. '

: But the behaviour of people in crises ‘makes
us doubt this. '

The correct sequence should be
(8 RQPS _ (b) SRQP (c) PSRQ (d) QSRP

172. S,: Our villages are not now as serene and

peaceful as they had been twenty five years
ago. ‘ :

S¢: This often vitiates the traditional tranquility
of the rural way of living.

P : The village people now seldom live under the
overall command of any single powerful
headman.

Q : Local political leaders mostly control and
command them.

: Party politics had entered into the peaceful
villages forcing the villagers to live polarized
political lives. :

: One dangerous consequence of this is that
they are often dragged into clashes even with

their own relations of different political
belief. '

The correct sequence should be .
(a) PRSQ ~ '(b) RPQS (c) QPRS ~_(d)PSRQ

is a great curse

and wealth is a source of happiness in life.

P :A life of poverty gives more genuine
satisfaction than a life passed in affluence
which encourages dependence on others

Q : This is untrue. '

R : Poor people are free from
surround the rich. '

S’ : They have sympath
more self-reliant.

‘The correct sequence should be £

(a) PSQR (b) QPRS (c) SRQP (d) RSPQ |

the evils whviéh

y for one another and are
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174, Sl:

176.

S¢: However,

P

Q : This wag done by

0" 1i t

Before man settled down, his life was no

governed by the sensons, -

we do not know when man lrnl?:
began to divide the day into twvcnty- 0
hours, and the hour into sixty minutes. e

* So man began to measure time, and firs 1t
looked for covenient unit of measurement,
one of which was the day.

making a mark for each
day on a tree trunk. ¢ 1

: Once he settled down to the agricultura way
of life, he had to be able to calcul_ate the
change of seasons on which agriculture
depended,

:In order to calculate the

Was necessary for man to

of days in each season,

passing of time, it
record the number

The correct sequence should be "

(a) PQRS
175. s,:
Se:

P
Q
R

S

(B)RPSQ  (c) QPSR
Imitation is not civilization,

When a man has begun to be ashamed of his
ancestors, the end hag tome., .

: As ass in a lion’s skin never makes a lion,

: It is verily the sign of awful degradation in g

(d) Rsqp

man,
Cowardly
progress.

: When a map has begun
the last blow has come.

imitation never makes for

to hate himself, thep

The correct Sequence should pe

(@)
Sy

Se

P :But it ‘h

Q : Under absolutigm

R : Freedom

The correct Sequence shoylq be
(a) sqQrPR
(c) PRQS
177.8,: In 1668 an important g;
S¢: That wag the begi

PQRS (b) SPRQ (c) PRQs (d) QSRP

:Democracy, more thgn any other form of
government, needg good citizenship.

: That is not the instinct of the natura] man;
yet somehow that habit, has to be acquired.

self-chosep

sacrifice
self-impogeq.

or dictatorship, men are
forced intq line,

is the essence of democracy: th
more complete the

complete the freedom.
!But'in g democ

e
democracy, the more

Tacy things aye hot so simple,

(b) RsqQP-
(d) Qsrp

DNing of the eng of the

theory of Spontaneoyg generation of higher

plants anq animalg,
He put some, r

] otting megt and fish i open
Jars and watcheq them,

178.

179.

180.

CDs Pathfin & 1
e

Q : When he covered the jarg wi o
found that flies came and lajq their slln, |
the muslin, but not Maggotg dEVeloeggso:‘
. the meat. , Peq .

R :In time, he noticed that fljeq camg ,
their eggs in the meat apq the hq laiq
hatched from the eggs, magg‘)ta

S : An Italian physician Named Rog: decjd
test the idea that worms Were = oy
spontaneously in rotting meg¢. e'ated

The correct sequence should be s

@PASR*  (p)sPRQ (g SRPQ (4 frg

S;: There is not sound more familiari aley
than the clanking of itg tramcarg ta

S¢: Their progress is regarded witp, the Mgy
of dread and embrassment Teserved g, :‘ﬁe
approach of a cantankeroyg old aunt. ¢

P :For a growing body of Opinion iy, e o
trams are a symbo] of urban bligh Y,

Q :1Itis also an irritant,

R : All day ang late into the night the tmndlin
roll of a tram hag become g Symbol, 5 Po rtentjg

S : Slow, overcrowded and unwieldy, they gy,
thought of as obstructijonjst and Outmogeq

The correct Sequence should pe ‘

@RaPs  (b)Rqsp (asPR (g PSRQ

S;: In England, Yesterday, villagers Were
amazed to gee g number of i

Se:

P

Q
R :
S

: One boy Jet go

over a field.

The others, however,
by buncturing thejp
had risen very far,

returned safely to earth
umbrellag before ‘they

his umbrella ang landed on 4
cow from g height of about 10 ft_ - :

: The youths, it aPpeared, had inflated their

fathers’ umbrellas with hydrogen; and as
result were borne skywards, :

The correct Sequence shoylg be

(a) QspR
815

-1n the Ameri
Se: I i

(b) PQSR
A recent
Engineers

(c) SQPR (d) PQRS

reveals that Indian
blay an immensely significant role
ican software industry. i
1 leaders - addresse

survey

t is high
themselveg to this issye seriously,

Not only this, the Indian Americans °.“:’
almost 25%  of the small informati0
technology firms in the Us. 7

:.Al'ld then, 2g9; of these hold 'a PhD-the

: . s
highest Percentage among all ethnic gro?

Involved jp the software industry,
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Jollars might be flowing ba
Someof prains are surely being lf)l;tbrot' :ﬁe
e

pati® | 1es the attention at th

a ca C . at the ver

:Wht A pumber—over a million Indiagsoutset
15 he American software industry work
int0° " pquence should be

(,(arrt’C
Th o (b) SQPR (q)SoRP (d) SPQR

pl i}
aving visited the T2) Mahal many tourists

. nink that Agra has little else to offer.

rhere are few other buildings to _

he of this tomb. match the

these 1s

d-daulah.
f the whole tomb was given by

Nur Jahan.

g : After seeing the Taj one could profitably visit
half 2 dozen other Mughal buildings.

b has the delicacy of a baroque

surely the tomb of

S ;This tom
jeWel case.
The correct sequence should be
(¢) RSQP (b) QSRP (c) SPRQ (d) RPSQ
ne of the

8.5;: For years the old chair stood in ©

empty antique.
g, 1 saw mYy paren
p : So when 1 saw
there.
Q : When m¥ moth
could not.
R : It was the
died.
§ -1 peeped in the past.
The correct sequence should be

ts madly in love again.
it for the last time, it stood

er died, I want

ed to sell it but

re for many years after my father

(s) PQRS (b) SRQP
() RPQS (d) RQPS
183, §,: Illness may start with almost any sign, but
some of them -aré much commoner than
others. ;
S;:As soon as this happens he must become®
alert about the signs: .
P .1t is important to note these sig
Q : Often the first sign of something wWEong
-es not feel fit.
s hat 18

; that the patient just doe
: They may help 2 do
S \ang_

:g{e usually relie
m iagnosis of the illness-
(q)ccom‘ct scquence'should be
}f, PRSQ (b) RSQP
{¢) PQSR (d) QRSP ‘

s on these

184.

185.

186.

187.

7] Ordering of Words and Sentences
635

Si:
12 Newton was perhaps the greatest scientist

g that ever lived.
6" gewton went home and worked quietly by
imself for about 18 months.

. But when he was only 22, 2 terrible plague

P
epidemic swept over England.

Q : He was the son of a Lincolnshire farmer, and
was born in 1642.

R : Therefore the universities were closed.

S : He went to Cambridge to study mathematics

when he was 19.
The correct sequence should be
(3)sPRQ  (b)QPSR  ° (c) SQPR
S,: Poverty is a God's curse. '
Se: Is not poverty a God’s boon!

P : These persons get themselves enrolled as
poor persons and get all the benefits of

poverty.
Q : It is not necessary
poor for getting enr

easily managed.

R :It may be true for a few but to many it is
just:its opposite. . :

S : Such:persons consider it to be a source of
enjoying life without earning enjoyment.

e should be

(d) QSPR

for a person to be actually
olled because it can be

The correct sequenc
(@) RQPS (b) QRSP (c) RSPQ (d) SRQP
S,: Belur is 95 km from Hassan.
omen musicians and

S¢: They depict young W
dancers in yarious poses.

P : Seen from afar, the star-shape
characteristically Hoysala, is

impressive.
Q:It stands in a €0
rectangular wall.
R : But closer it is dazzling and
the entire exterior 18
the loveliest

d temple,
not very

urtyard surrounded by a

decorated
peing the panels

sculptures,
right and left of the main door.
S : Chennakesava Temple 18 dedicated = to
Vishnu.
The correct sequence should be
(2) QRSP srpq () SPQR (d) SQPR
S;: When his bussiness failed,_he began to look
for a job in an office.
Se: Unable to bea misfortunes any further, !Je
i started toyin with the idea of ending his life
f burdens and strains i ‘
p :To overcome depression he took to taking
alcohol and became addicted to 1t-
soon ealised that nothing was more
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188.

189.

190.

R : Without job he failed to meet the dﬂ,“y
requirements of his family which made him
highly depressed,

S : Quarrel ensured invariably between husband
and wife when he returned home in a state
of drunkenness.

The correct sequence should be

(@) PQRS  (b)SRQP  (c)QSRP  (d)QRPS

S,: Unlike many modern thinkers, Tagore had

no blueprint for the world’s salvation.

Sg: As a poet he will always delight, as a singer
he will always enchant, as a teacher he will
always enlighten.

: His thought will therefore never be out of
date,

: He merely emphasised certain basic truths
which may ignore only at their peril.

: He believed in no particularism:

: He was what Gandhiji rightly termed the
Great Sentinel, :

The correct sequence should be

(@)SRPQ  (B)PRQS  (c)RSPQ -, (d) RQPS

S,: Louis Pasteur had a very busy and

interesting life. v4

He was always very proud of being able to

help his country in this way.

P : Among the people whom Pasteur was able to
help were brewers, breeders of, silk worms,
and cow keepers, all of whom were trying to
carry on important industries.

Q : He worked hard in his laboratory with test
tubes and all kinds of experiments.

R : He was working to help people who were
suffering in some special way from disease.

S : He not only made some exciting discoveries
about germs but he was able to use his
discoveries in very practical ways.

The correct sequence should be

(a) SQRP (b) PQRS (c) QRSP (d) RSQP

S,: Tom Walker and his wife were always at

loggerheads.

¢: Tom silently thanked God for this relief.

: She never tired of reproaching him on this
score.

: Tom was incurably lazy and talkative.

: One day Mrs Walker caught a deadly cold
and shortly afterwards, died.

: This was a constant source of irritation to

wx" o =

Se:

[¢2] = .3 ae 7))

: his wife.
The correct sequence should be
(a) PRQS (b) QSPR
(c) SQrRP (d) PSQR:

191. S,: So we went on in the quiet, anq ¢

192.

193.

194.

gus Pathfinde
r

. . he bwi
deepened into night. g
Then as the darkness grew deeper
her arms round my neck, ang
eyes tightly pressed her face
shoulder.

: The ground grew dim and the treeg blac

P
Q : The clear blue of the distance fadeg ang
] On@
R
S

Sg: » 8he
closip, Py

againgy l:]:;

star after another came out.
: Neena's fears and her fatigue grey upon }
: I took her in my arms and talkeq 0 her er
caressed her.
The correct sequence should be
(a) PRQS (b) QPRS (c) QPSR (d) Rsq

S,: Kennedy kicked moodily at the leg of th
chair which he was holding. :

Sg: It was a depressing beginning.

P : Now his chief desire seemed to be to score off
the human race in general, his best frienq
included. |

Q : If he had asked Fenn to help him in 4 tight
place, then he knew he could have relied op
him.

R : Last term he and Fenn had been gas cloge
friends as you could wish to see.

S : The feeling that his whole world had fallen
about his ears was increasing with every
hour he spend at Kay’s. .

The correct sequence should be

(a) PRSQ (b) RSPQ (c) SRQP

S,: I sat at the table and ate. ‘

Sg: I was just the normal Ramaswamy, husband
of Madeleine. ,

P : My breathing became suddenly difficult.

Q :I concentrated on my food and I was
convinced I had to eat. '

R :T stooped, however, any exhibition of the
extraordinary. ' -

S : But lungs have temperament.

The correct sequence should be

ang

(d) RQPS

@PRSQ  (b)QSPR (c)QSRP - (d)SPRQ
S,: Todd borrowed this dollar last year on the
8th of April. 7

S¢: And I said, ‘certainly’, '

P : He needed a dollar to pay his taxi and I lest
it to him. : .

Q : He merely said, ‘Let me have a dollar, wil
you’! o 2

R : It happened quite simply and naturally:

S : I hardly realised it till it was all over.

The correct sequence should be ;

(@ PRSQ  (b)RSPQ  (c)QRPS  (d) PGRS
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d 3. (c) 4. (c) : _
l;}19(3) 1: ic)) 13. () 14, (c) l:. 8 12' ((Z)) 1:’ (c) 8, () 9. (2) 10 (i)
) 23. (a) 2%. (c) ‘ . (b) 18. (b) 19. (b) 20. (<)
! 22 g 26. (a) 27, (d) 28, (c) 29. (c) 30. (b)
n @ 3. (b) 33. (c) 34. (a) 35. () 36. (a) 37. (¢) 38. (b) 19. (c) 40, (b)
i (© 42. () 43, (d) 44. (d) 45. (b) 46. (c) 47. (d) 48: (© 49, (c) 50. (d)
i () 52. (d) 53. (a) 54. (b)‘ 55. () 56. (b) 57. (<) 8. (d) $9. (¢) 60. (3)
TN C) 63. (2) 64. (c) 65.(d)  66.(d) 7. (c) 68.(d) 69 (b) 70, (3)
PRCERP 73. (a) 74. (b) 75. (a) 76. (a) 7. 0 78, (b) 79, @ o
n.0) g2. (a) 83. (a) 84, (d) © 85. (<) 86. (c) 87: ®) “: ®) 89: (b) 90: @
:: (lj 92. (d) 93. () 94. (d) 95. (c) 96. (c) 97. (d) 98. (b)
jous Years’ Answers
:z:)v 2. (2) S pll 2 5. (2) 6.(c) 5 7:(b) 8 (d) 90.(6)  10.(b)
1.0 12. (2) 13- () 14, (<) 15. (b) 16.(0) ' 17.() 18. (b) 19. (b) 20. (2)
o C) 23. (d) 24. (c) 25. (c) 26. (a) 27.(d) 28. (d) 29. () 30. (a)
oo (a) 33. (b) 34. (b) 35. (a) 36.(b) - 37.(0) 38. (¢) 39, (b) 40. (c)
| i, @ 42. (2) 43. (@) 4. (b) 45. (b) 46. (d) 47. (d) 48. () 49. (c) 50. (d)
51. (b) 52. () 53. (a) 54. (b) 55. (a) 56.(c) 57 (a) 58. (¢) 59. (b) 60. (b)
6. (d) 62. (2) 63. (a) 64. (d) 65. (b) 66.(c) ' 67.(d) 68. (c) 69. (d) 70. (b)
1. () 72. (©) 73. (b) 74. (d) 75. (d) '76. (c) 77.(a) 78. (b) 79. (b) 80. (a)
g 8@ 83. (a) 84. (b) 85. (d) 86. (c) 87. (b) 88. (d) 89. (b) 90. (d)
() 92. (c) 93. (c) = 94.(d) 95. (d) 96. (a) - 97.(d) 98. (b) 99. (d) 100. (d)
Do) 102 (d) 103. (b) 104. (a) 105. (d) 106. (d) 107. (a) 108. (¢) 109. (¢) 110. ()
. (b) 112. (b) 113. (¢) 114. (b) 115. (b) 116. ) ' 117.(d) 118. (d) 119. () 120. (a)
oo 122.(d) 123. (0 124. (¢) 125. (b) 126. () . 127.(d) 128. (b) 129. () 130. (b)
| 131, (b) 132. (a) 133. (3) 134. (a) 135. (2) 136. (d) 137. (d) 138. (b) 139. (d) 140. (<)
A R P R T B T R O B R ©  149.()  150.(a)
CsLp) 152 (a) 153. (c) 154. (a) 155. (b) 156. (d) 157. (a) 158. (d) 159. (b) 160. (b)
| 161. () 162. (a) 163. (a) 164. (b) 165. () 166. (d) 167. (b) 168. () 169. (b) 170. (b)
i m.d 172, (b) 173. (b) 174. (b) 175. (c) 176. (d) 177. (b) 178. (b) 179. (a) 180. (b)
8L 182 (d) 183. (a) 184. (d) 185. (c) 186. (d) 187. (d) 188. (a) 189. () 190. (b)
} wL(b)  192. (d) 193. (b) 194. (a) :
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